@question 1

| use Category 3 shown in
the red frame on Page 1.
In this case, is it okay to
leave the A part connector
of Page 2 open? Or do |
need to connect
something?
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This means the channel
divider after the VCO is
either bypassed 2, 4, or 6. In
this case, SYNC mode will
put it in the loop.

NO

Four%(M x fosc) = 0
/am%{u x fosc) =0

M is the product of any input
multiplication. This requirement is
testing if the output frequency is a

multiple of the highest frequency in the
input path.

Integer Mode
This is asking if the device is in integer

mode, which would mean the fractional
numerator is zero.
Integer Mode NO
\'/

Figure 2. SYNC Categories Flow Chart
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2.1 Connection Diagram

@question?2

Is it okay if | don't connect
anything to the A connector?
Or do | need to connect something?

Figure 2-1. Connection Diagram
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@ Question3
Can | extract signals of different frequencies from A and B?
Please tell me how to do it if possible.
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